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Q6. __________ is the synonym of "JOIN." 
 

A. Release B. Attach 

C. Disconnect D. Detach 

 

Q7. __________ is the antonym of "SYMPATHETIC." 
 

A. Insensitive B. Thoughtful 

C. Caring D. Compassionate 

 

Q8. Identify the meaning of the idiom "Miss the boat." 
 

A. Let too much time go by to complete a task. B. Long for something that you don't have. 

C. Miss out on an opportunity. D. Not know the difference between right and 

wrong. 

 

Q9. The sentence has an incorrect phrase, which is in bold and underlined. Select the option that 
is the correct phrase to be replaced so that the statement is grammatically correct. 
 
"I train to be a pilot because my dream is to join the Air Force." 

 

A. am training B. would train 

C. are training D. will have trained 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
I was very grateful that he _____ (repair) my computer so promptly. 

 

A. repairs B. will be repairing 

C. will repair D. repaired 

 

Q11. Which was the capital of Ashoka's empire? 
 

A. Ujjain B. Taxila 

C. Indraprastha D. Pataliputra 
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Q11. @्䵞?� 
>K� �ी 1?�/?0I �A??+1 %I? 
 

A. �जᱍ�P0 B. ,्䵌िल? 

C. �oर�}- D. +?टलल+I्䵔 
 

Q12. Which articles that dealt with policies regarding Jammu and Kashmir were recently 
revoked by the Indian government? 

 

A. Article 377 and 37A B. Article 375 and 35A 

C. Article 370 and 35A D. Article 375 and 37A 

Q12. .?1$ @1�?1 0O �म⹍/J �1 �?�//1 /े䜂 0K�0?� � @O @�-��/$ �L0@I /?1? �K �01}$ ��0?? 
 

A. /?1? 377 औ1 37A B. /?1? 375 औ1 35A 

C. /?1? 370 औ1 35A D. /?1? 375 औ1 37A 

 

Q13. The densest layer that contains 75 percent of the total mass of the atmosphere is _____ . 
 

A. Stratosphere B. Ionosphere 

C. Troposphere D. Mesosphere 

Q13. ��/K@�?01 (=?0J/m!ल) �ी �J ल /?@ (�}0/?0) �O  75 ��$>$=?लI  0I +1$ AP ______ 
 

A. }रPटK}}?01 B. �0K0K}}?01 

C. रK+K}}?01 D. /O@K}}?01 
 

Q14. President of India can be removed from the position before the end of term only if 
suggested by: 

 

A. Chief Justice of India B. Prime Minister of India 

C. Council of ministers D. The two houses of parliament 

Q14. 0�? ________ �O  ्䵛?1? @J�?0? �?� $K .?1$ �O  1?�र+�$ �K �0�ी 
=�/ @/?्䵎 AK0O @O +AलO AI +?चᩍ0J$ ��0? �? @�$? AP| 
 

A. .?1, �O  /I_0 o0?0/}ू, ? B. .?1, �O  �/?0 /�्䵔I 

C. /�}्䵔/�डल D. @�@. �O  .K0ो䬂 @.0 
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Q15. Who among these elect the members of the Rajya Sabha? 
 

A. All Indian citizens who possess the right to vote B. Elected members of the legislative assembly 

C. Elected members of the legislative council D. Members of Lok Sabha 

Q15. �0म⹍0 /े䜂 @O �L0 1?जᱍ0 @.? �O  @?}0ो䬂 �? �J0?= �1$O AP? 
 

A. /,.?0 �? 
//�?1 1�0O=?लO @.I .?1,I0 0?�91� B. ==/?0@.? /े䜂 �I0O �� @.}0 

C. ==/?0 +91?. /े䜂 �I0O �� @.}0 D. लK�@.? �O  @.}0 

 

Q16. _______ is the historical name of Narnaul. 
 

A. Nandigram B. Narayan Gram 

C. Narayangarh D. Nandigarh 

Q16. 0?10Lल �? ��$A?�@� 0?/ AP ______| 
 

A. 0o.I्䵇?/ B. 0?1?0+ ्䵇?/ 

C. 0?1?0+�ड D. 0o.I�ड 
 

Q17. Yamunanagar was called _____ prior to India's independence. 
 

A. Lakkar B. Mandi 

C. Abdullapur D. Umladwar 

Q17. .?1$ }=$�} AK0O @O +AलO 0/J0?0�1 �? 0?/ %? _______| 
 

A. ल]�1 B. /oडI 

C. 
m.Iल㉍ल?+1ू D. �/ल?.=1 
 

Q18. The NuGen Mobility summit was held in ______ in November 2019. 
 

A. Panipat B. Gurugram 

C. Nuh D. Manesar 
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Q18. 0=�-1 2019 /े䜂 m0K�O0 /K�-�ल�I @�/� ______/े䜂 .1? %?| 
 

A. +?}0+, B. �Iy्䵇?/ 

C. 0ूA D. /+O@?1 
 

Q19. A state-of-the-art commando training centre for RPF has been planned to be started in 
______. 

 

A. Jagadhri B. Gurugram 

C. Nuh D. Panipat 

Q19. RPF �O  �ल� 
m0?/J�0� �/?m!K ��>�# �े䜂 � ______ /े䜂 >Jy �10O �ी 0K�0? AP| 
 

A. ��/?1I B. �Iy्䵇?/ 

C. 0ूA D. +?}0+, 

 

Q20. A new department called _____ has been created by the Haryana government to promote 
investment and employment by cooperating with foreign countries. 

 

A. Department of State Welfare B. Department of Foreign Cooperation 

C. Department of Foreign Investment D. Department of Foreign interest 

Q20. Aर10?#? @1�?1 0O �=?O>ो䬂 �O  @A0K� @O �0=O> �1 1K��?1 �K -"?=? ?O0O �O  �ल� __________ 0?/� 00? �=.?� }%?�+$ ��0? 
AP| 

 

A. )ड+?ट?/Ooट �? }टOट =Oल?O 01 (1?जᱍ0 �ल㉍0?+ ==.?�) B. )ड+?ट?/Ooट �? ?L1O0 �K�+1O>0 (==.O> @A0K� ==.?�) 

C. )ड+?ट?/Ooट �? ?L10 �o=O}ट/Ooट (==.O> }0=O> ==.?�) D. )ड+?ट?/Ooट �? ?L10 �oट1O}ट (==.O>I 9A, ==.?�) 

 

Q21. _____ award was awarded to the Haryana Police by FICCI in August 2019. 
 

A. Vigil Policing B. Accurate Policing 

C. Smart Policing D. Kind Policing 

Q21. Aर10?#? +J�ल@ �K FICCI 0O 
�}$ 2019 _______ +J1}�?1 �?0? %?| 
 

A. ==}�ल +Kललल@o� B. �]0I1Oट +Kललल@o� 

C. }/?ट? +Kललल@o� D. �?�oड +Kललल@o� 
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Q22. ___ panchayats in Haryana have been awarded a 6-star rating under the Seven Star 
Scheme. 

 

A. 50 B. 15 

C. 58 D. 20 

Q22. @O=0 }�?1 }�ी/ �O  $A$ Aर10?#? �ी _____ +��?0$ो䬂 �K 6 }�?1 1O���� ?I �� AP| 
 

A. 50 B. 15 

C. 58 D. 20 

 

Q23. Which was the first Hindi newspaper of Haryana? 
 

A. Jain Prakash B. Jat Samachar 

C. Haryana Tilak D. Dainik Prakash 

Q23. Aर10?#? �? +Aल? �Am?I @/?�?1+} �L0@? %?? 
 

A. �P0 ��?> B. �ट @/?�?1 

C. A910?+? },ल� D. .P}0� ��?> 

 

Q24. ____ is credited as being the first Saangi of Haryana. 
 

A. Shree Ram Sharma B. Kishanlal Bhatt 

C. Kanhaiya Lal D. Ram Lal Bhatt 

Q24. __________ �K Aर10?#? �O  �%/ @?m�I AK0O �? ्䵦O0 �?0? �?$? AP| 
 

A. ्䵦I 1?/ >/?? B. ��>0ल?ल .ट 

C. �oAP0? ल?ल D. 1?/ल?ल .ट 
 

Q25. Pandit Neki Ram Sharma who started ______ was from Bhiwani. 
 

A. Haryana Shodh Patrika B. Jat Gazette 

C. Haryana Tilak D. Sandesh 
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Q25. +��!$ 0O�ी 1?/ 1?/ >/?ा�I 0O �.=?0I @O _________ �ी >Jy�$ �ी %I| 
 

A. A910?+? >K/ +}्䵔�? B. �ट �P�Oट 

C. A910?+? },ल� D. @o.O> 

 

Q26. ______ is the only hill station in Haryana. 
 

A. Morni Hills B. Dhosi Hills 

C. Tipra Hills D. Shivalik Hills 

Q26. Aर10?#? �? ��/?} �Aल }�O>0 _________ AP| 
 

A. /K10I 9Aल㉍@ B. /Kल@ 9Aल㉍@ 

C. 9ट�? 9Aल㉍@ D. ल>=?लल� 9Aल㉍@ 

 

Q27. Haryana constitutes _____% of India's geographical area. 
 

A. 2.4 B. 1.3 

C. 4.1 D. 5.8 

Q27. .?1$ �O  �J ल .L�K�ल� �O} �O  ___% �O} /े䜂 Aर10?#? �? � 0 AI� AP| 
 

A. 2.4 B. 1.3 

C. 4.1 D. 5.8 

 

Q28. _______ river is called the Najafgarh drain in Delhi. 
 

A. Krishnavati B. Dohan 

C. Sahibi D. Saraswati 

Q28. __________ 0?I �K �?ल㉍लI /े䜂 0�?�! 0?ल? �A? �?$? AP| 
 

A. �ृ�+?=,I B. .KA0 

C. @?9A-I D. @1}=,I 
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Q29. When was the State Election Commission of Haryana established? 
 

A. 1993 B. 1983 

C. 1991 D. 1985 

Q29. Aर10?#? �O  }�O� �लO]>0 ��/>0 (1?जᱍ0 �J0?= �0K�) �? � 0 �- AI� %?? 
 

A. 1993 B. 1983 

C. 1991 D. 1985 

 

Q30. There are ____ seats in the Haryana Vidhan Sabha. 
 

A. 100 B. 110 

C. 90 D. 85 

Q30. Aर10?#? �=/?0 @.? /े䜂 �J ल ______ @I�े䜂 AP| 
 

A. 100 B. 110 

C. 90 D. 85 

 

Q31. On an average, the Haryana Forest department carries out plantation on _____ hectare area 
per year. 

 

A. 50000 B. 30000 

C. 75000 D. 20000 

Q31. �@$ y+ @O, Aर10?#? =0 �=.?� ��$ @?ल _______ AO]�1 .K�/+1 =L�?1K+# �1$? AP| 
 

A. 50000 B. 30000 

C. 75000 D. 20000 

 

Q32. Eco tourism spot has been set up in _____ by the Haryana Forest Department. 
 

A. Kalesar B. Panipat 

C. Gurugram D. Yamunanagar 
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Q32. Aर10?#? =0 �=.?� 0O ________ /े䜂 ��K �Jर1�/ }+L� �0/?ा# }%?�+$ AP| 
 

A. �?लO@1 B. +?}0+, 

C. �Iy्䵇?/ D. 0/I0?0�1 
 

Q33. Journal of Haryana Studies was first published in [1]_____ from [2]______. 
 

A. [1]1989, [2] Kurukshetra University B. [1]1957, [2] Rewari 

C. [1]1969, [2] Kurukshetra University D. [1]1959, [2] Gurugram University 

Q33. Aर10?#? 
o000 +�}�? �? +Aल? ��?>0 [1] ________ @?ल /े䜂 [2] _________ @O ��0? �0? %?| 
 

A. [1]1989, [2] �I yिO्䵔 ==�===द♍0?ल0 B. [1]1957, [2] 1O=?1I 

C. [1]1969, [2] �I yिO्䵔 ==�===द♍0?ल0 D. [1]1959, [2] �Iy्䵇?/ ==�===द♍0?ल0 

 

Q34. Who was the first woman speaker of a State Assembly appointed in Haryana? 
 

A. Geeta Rani B. Shanno Devi 

C. Chandrawati D. Violet Hari Alwa 

Q34. Aर10?#? �O  1?जᱍ0 �=/?0@.? �O  }+I�1 +?+1 �L0@I +A�ल /�Aल? �00J्䴹 AI� %I? 
 

A. �I,? 1?0I B. >o0K .O=I 

C. ��र?=,I D. =?0KलOट A91 
ल㉍=? 
 

Q35. Village Forest Committees have been formed in ____ villages under the Natural 
Afforestation Programme. 

 

A. 1135 B. 817 

C. 1000 D. 1900 

Q35. 0P�1ल 
?L1O}�O>0 �K्䵇?/ (�?�L �$� =0I�1# �?0ा्䵅/) �O  $A$ __________ �??=K /े䜂 �=लO� ?L1O}� ��/�I� (्䵇?/ =0 
@�/�$0??) �? � 0 ��0? �0? AP| 

 

A. 1135 B. 817 

C. 1000 D. 1900 
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Q36. Which among the following is an empty tag and does not require a closing tag in HTML? 
 

A.  B.  

C.  D.  

Q36. �0म⹍0 /े䜂 @O �L0@? �?लI �P� AP �1 HTML /े䜂 �@O ]लK���� �P� �ी �=/0�$? 0AK +!$I AP? 
 

A.  B.  

C.  D.  

 

Q37. Which among the following is a dynamically allocated memory to a process during its run 
time? 

 

A. Data B. Text 

C. Heap D. Stack 

Q37. �0म⹍0 /े䜂 @O �L0@I �K@O@ �K �@�O  10 �?�/ �O  ?L1?0 !?00P�/�लI 
लK�O �O! /O/O1I AP? 
 

A. डOट? B. टO]}ट 

C. AI+ D. }टP� 

 

Q38. Who coined the term "Artificial Intelligence"? 
 

A. Marvin Minsky B. John McCarthy 

C. Allen Newell D. Alan Turing 

Q38. "���ा�?�>0ल �m�O�ल�Om@" (�L �}/ -J�ि/m?) �/ा (�/0??) �K ��@0O 1�?? 
 

A. /?==?0 ल/o}�I B. �L0 /P��?-ी 

C. �ल0 o0=ूOल D. 
लॅ0 टI 91�� 

 

Q39. In which among the following layer of the OSI model does multiplexing and splitting of 
data occurs? 

 

A. Session Layer B. Data Link Layer 

C. Transport Layer D. Network Layer 
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Q39. �0म⹍0 /े䜂 @O �L0@O OSI /L!ल �O  लO01 /े䜂 /�ल㉍�oलO�]@�� �1 !O�? �}oल���� AK$? AP? 
 

A. @O>0 लO01 B. डOट? ललo� लO01 

C. र?o@+Kट? लO01 D. 0Oट=�?  लO01 
 

Q40. Find the odd one out. 
 

A. 57 B. 87 

C. 117 D. 127 

Q40. 
@��$ -$?�?| 
 

A. 57 B. 87 

C. 117 D. 127 

 

Q41. AG: ZT::EJ:? 
 

A. WK B. UR 

C. VQ D. RN 

Q41. AG: ZT::EJ:? 
 

A. WK B. UR 

C. VQ D. RN 

 

Q42. Complete the series. 
-1,2,-3,5,-5,8,-7,?. 

 

A. 11 B. 9 

C. -7 D. -9 

Q42. >L��ल? +K#ा �1े䜂| 
-1,2,-3,5,-5,8,-7,?. 

 

A. 11 B. 9 

C. -7 D. -9 
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Q43. If SUCCESSFUL is coded as 1233455627,how will FULL be coded? 
 

A. 6277 B. 5366 

C. 6233 D. 5322 

Q43. 0�? SUCCESSFUL �? �K! 1233455627 AK$? AP, $K FULL �? �K! ]0? AK�?? 
 

A. 6277 B. 5366 

C. 6233 D. 5322 

 

Q44. Find the operator in the given equation 8___2+5 = 9. 
 

A. Plus(+) B. Minus(-) 

C. Multiplication(*) D. Division(/) 

Q44. �?� �� @/I�1# @O �+1O�1 �? +$? �1े䜂 8___2+5 = 9. 
 

A. oल@ (+) B. /?00@ (-) 

C. /}ल㉍ट}oल�O >0 (*) D. )ड==�0 (/) 

 

Q45. Rahul sold his watch for Rs. 3200 and gained Rs. 400. Find the cost price of the watch. 
 

A. Rs.3600 B. Rs.2800 

C. Rs.3400 D. Rs.4200 

Q45. 1?AJल 0O �@�ी  !I Rs. 3200 /े䜂 -O�I �1 Rs. 400 ल?. +?0?|  !I �ी �1I? �ी/$ -$?�?| 
 

A. Rs.3600 B. Rs.2800 

C. Rs.3400 D. Rs.4200 

 

Q46. What is 15% of 3 litres? 
 

A. 450 litres B. 450 ml 

C. 45 litres D. 45 ml 
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Q46. 3 लI�1 �? 15% ��$0? AK$? AP? 
 

A. 450 लIट1 B. 450 ml 

C. 45 लIट1 D. 45 ml 

 

Q47. Rama and Shyama divides Rs. 4500 in the ratio of 5 : 4 respectively. What will be Rama's 
share? 

 

A. Rs.2500 B. Rs.2000 

C. Rs.3000 D. Rs.2800 

Q47. 1?/ �1 /0?/? 0O Rs. 4500 ्䵅/>: 5 : 4 
0J+?$ @O -??� �ल�| 1?/ �? �A}@? ��$0? AK�?? 
 

A. Rs.2500 B. Rs.2000 

C. Rs.3000 D. Rs.2800 

 

Q48. Which of the following is NOT a non-renewable source of energy? 
 

A. Coal B. Crude oil 

C. Solar D. Natural Gas 

Q48. �0म⹍0 /े䜂 @O �0�I (��?ा) �? �L0@? ኚ验K$ 0Q0 र1m0K�-ल (�P1 0=I�1#I0) 0AK AP? 
 

A. �K0ल? B. ्ू䵅ड ,Oल 

C. @Kल1 D. 0P�1ल �P@ (0P@/�?� =?0ू) 
 

Q49. What is the Latin name of Copper? 
 

A. Ferrum B. Cuprum 

C. Argentum D. Aurum 

Q49. �L+1 ($?�-?) �? लP��0 0?/ ]0? AP? 
 

A. ?O 1/ B. �I �/ 

C. �1�Ooट/ D. �1/ 
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Q50. The cell organelle, also called as energy factories or powerhouses of a cell which produces 
ATP is called__________. 

 

A. Ribosomes B. Cytoplasm 

C. Mitochondria D. Lysosomes 

Q50. @Oल ��I0OलO ��@O @Oल �O  ��?ा �?1�?0O 0? +?=1A?�@O@ .I �A? �?$? AP, �K ATP �? �m+??0 .I �1$O AP, �mAे䜂 �A$O 
AP__________| 

 

A. 1?0-K@Kम⹍@ B. @?0टKoल?जᱍ/? 

C. ल/टK�K}oि0? D. ल?0@K@Kम⹍@ 

 

Q51. Which symbol must be used to represent a decision-based operation in a flowchart? 
 

A. Oval symbol B. Parallelogram symbol 

C. Rectangle symbol D. Diamond symbol 

Q51. oलK�?�ा /े䜂 �0#ा0-�/?र1$ �+1O>0 �? ��$�0�/m= �10O �O  �ल� ��@ ��mA �? �+0K� ��0? �?0? �?�A�? 
 

A. 
�ड?�?1 /�oA B. @?/?0?�,1 �,I.I?� /�oA 

C. @/�K+ /�oA D. ड?0/�ड /�oA 
 

Q52. Which type of flowchart is useful to show the flow of data to and through the major 
components of the system? 

 

A. System flowchart B. Program flowchart 

C. Data flowchart D. Document flowchart 

Q52. �@}�/ �O  �/J�  ��ो䬂 �ी $1? $%? �0@O AK�1 !O�? �O  �=?A �K �?�>ा$ �10O �O  �ल� ��@ ��?1 �? oलK�?�ा �+0K�I AP? 
 

A. ल@}ट/ ़㱸लK�?ट? B. �K्䵇?/ oलK�?ट? 

C. डOट? ़㱸लK�?ट? D. डI]0ू/े䜂ट ़㱸लK�?ट? 
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Q53. Which among the following is NOT an advantage of using a flowchart? 
 

A. Easy to communicate the ideas in the program. B. Analysis of the process to ensure nothing is left 

out in the code. 

C. Easy to create for program logic that is quite 

complicated. 

D. It helps in the debugging process. 

Q53. �0म⹍0�ल��$ /े䜂 @O �L0 @? oलK�?�ा �O  �+0K� �? ल?. 0AK AP? 
 

A. �K्䵇?/ /े䜂 ==�?1ो䬂 �O  @�=?. /े䜂 �@?0 AK,? AP। B. �Kड /े䜂 �I � .I 0AI� �ूट? AP �K @I}0}��, �10O �O  लल� 
��्䵅0? �? ==�लO?+। 

C. �??I �9टल �K्䵇?/ लI}�� �K -0?0O /े䜂 �@?0 AK,? AP। D. 0A डI-/��� ��्䵅0? /े䜂 /.. �1,? AP। 
 

Q54. Which symbol is used to represent the pause/halt under some error conditions in a 
program logic? 

 

A. Oval symbol B. Parallelogram symbol 

C. Rectangle symbol D. Diamond symbol 

Q54. �K्䵇?/ लQ��� /े䜂 �J � }J�� �ी >$ो䬂 �K +Q�/A?ल㉍� �? ��$�0�/m= �10O �O  �ल� ��@ ��mA �? �+0K� ��0? �?$? AP? 
 

A. 
�ड?�?1 /�oA B. @?/?0?�,1 �,I.I?� /�oA 

C. @/�K+ /�oA D. ड?0/�ड /�oA 
 

Q55. Which header file is to be added in code to identify the type of error encountered during 
any function call? 

 

A. error.h B. errno.h 

C. stdlib.h D. stderr.h 

Q55. ��@I .I ?� ]>0 �Qल �O  ?L1?0 AI� }J�� �O  ��?1 �ी +A�?0 �10O �O  �ल� �K! /े䜂 �L0 @I AO!1 फ?�ल �K)I �?0I AP? 
 

A. error.h B. errno.h 

C. stdlib.h D. stderr.h 
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Q56. Which function is to be used in the code to display the textual representation of the current 
errno value? 

 

A. perror() B. ferror() 

C. exiterr() D. strerror() 

Q56. �1�� errno =Pल㉍0K �O  �O]@�J
ल र1��े䜂�O>0 �K �?�>ा$ �10O �O  �ल� ��@ फ� ]>0 �? �+0K� �K! /े䜂 ��0? �?0? AP? 
 

A. perror() B. ferror() 

C. exiterr() D. strerror() 

 

Q57. What will be the error in the code, when it returns the error value as 5? 
 

A. No such file or directory B. No child process 

C. I/O error D. Permission denied 

Q57. �K! �- errno =Pल㉍0K 5 .O�$? AP $K �K! /े䜂 ]0? }J�� AK�I? 
 

A. �@I �K� फ?�ल 0? ड?01O]ट1I 0? AK0? B. �K� �?�ल㉍ड �K@O@ 0? AK0? 

C. I/O �11 D. 
0I/}, 0? ल/ल0? 
 

Q58. Which is responsible to calculate the size of the program and create memory space for it? 
 

A. Compiler B. Loader 

C. Linker D. Assembler 

Q58. �K्䵇?/ �O  ��?1 �ी �#0? �10O �1 �@�O  �ल� /O/K1I }+O@ -0?0O �O  �ल� �L0 ��म⹍/O??1 AP? 
 

A. �म⹍+?�ल1 B. लKड1 

C. लल��1 D. 
@Oम⹍-ल1 
 

Q59. Which among the following will not stop its execution in the middle when an error occurs 
in code? 

 

A. Compiler B. Loader 

C. Linker D. Assembler 
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Q59. �0म⹍0�ल��$ /े䜂 @O �L0 @? �� �K! /े䜂 }J�I AK0O +1, �K! �O  �्䵅0?m=00 �K -I� /े䜂 0AK 1K�O �?? 
 

A. �म⹍+?�ल1 B. लKड1 

C. लल��1 D. 
@Oम⹍-ल1 
 

Q60. How does the output of the assembler is called? 
 

A. Source file B. Executable file 

C. Library file D. Object file 

Q60. 
@Oम⹍-ल1 �O  ���+J� �K ]0? �A? �?$? AP? 
 

A. @K@? ??�ल B. }0�+?.0I0 ??�ल 

C. ल?�}O1I फ?�ल D. �m�O]ट फ?�ल 

 

Q61. Which among the following is NOT a characteristic of Dynamic linker? 
 

A. Implemented during runtime B. Requires less memory 

C. Fewer chances of error and failure D. Store the program in virtual memory 

Q61. �0म⹍0�ल��$ /े䜂 @O �L0 @I !?00?�/� �ल��1 �ी �=>O?$? 0AK AP? 
 

A. 10ट?�/ �O  .L1?0 ल?�ू ��0? �0? B. �/ /O/K1I �I �=�0�,? AK,I AP 

C. ्䵔I9ट औ1 ==?ल,? �I �/ @�.?=0? D. =�I?
ल /O/K1I /े䜂 �K्䵇?/ �K }टK1 �1,? AP 
 

Q62. Xamarin is a cross platform _________________. 
 

A. mobile IDE B. cloud-based IDE 

C. web-based IDE D. language specific IDE 

Q62. Xamarin �� ्䵅Q@ oलO�??/ा _________________ AP। 
 

A. /K-?�ल IDE B. ]ल?�ड--O}ड IDE 

C. =O---O}ड IDE D. लै䠂_=O� }+Oल@�?� IDE 
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Q63. Which of the following is NOT a code editor that can be used in an IDE? 
 

A. Sublime B. Visual Studio Code 

C. Emacs D. GitHub 

Q63. �0म⹍0�ल��$ /े䜂 @O �L0 �� �K! ��!�1 0AK AP ��@�? �+0K� IDE /े䜂 ��0? �? @�$? AP? 
 

A. @-ल?�/ B. ==�I
ल }टू)ड0K �Kड 

C. �/]@ D. /�टA- 

 

Q64. What type of memory allocation do procedures need during program execution? 
 

A. Stack Allocation B. Static Allocation 

C. Heap Allocation D. Dynamic Allocation 

Q64. �K्䵇?/ �O  �0�+??0 �O  ?L1?0 ��्䵅0?� � �K ��@ ��?1 �O  /O/K1I �=��0 �ी �=/0�$? AK$I AP? 
 

A. }टP� �लK�O >0 B. }टP9ट� �लK�O >0 

C. AI+ �लK�O >0 D. ड?00?ल/� �लK�O >0 

 

Q65. Which of the following will create an l-value error by the compiler? 
 

A. x+y = 10 B. 10 = x-y 

C. x= 12+10 D. y=13-15 

Q65. �0म⹍0�ल��$ /े䜂 @O �L0 @? �=�ल㉍+ �म⹍+?�ल1 ्䵛?1? l-value }J�� +P?? �1O�?? 
 

A. x+y = 10 B. 10 = x-y 

C. x= 12+10 D. y=13-15 

 

Q66. Which of the following is the first step to create a program? 
 

A. Defining a solution. B. Drawing a flowchart. 

C. Identifying the problem. D. Writing the code. 
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Q66. �K्䵇?/ -0?0O �O  �ल� �0म⹍0�ल��$ /े䜂 @O +Aल? �?/ �L0 @? AP? 
 

A. @/?/?0 +91.?=?, �10?। B. oलK�?ट? -0?0?। 

C. @/}0? �I +A�?0 �10?। D. �Kड लल�0?। 
 

Q67. Drawing a flowchart or writing the pseudo code defines ______ part of the programming 
process. 

 

A. defining the problem B. coding the program 

C. testing the program D. planning the solution 

Q67. oलK�?�ा -0?0? 0? }0K!K�K! �ल�0? �K्䵇?�/�� ��्䵅0? �O  ______ �O  .?� �K +र1.?�?$ �1$? AP। 
 

A. @/}0? �K +91.?=?, �10? B. �K्䵇?/ �K �Kड �10? 

C. �K्䵇?/ �? +1Iि+ D. @/?/?0 �I 0K�0? -0?0? 
 

Q68. Which of the following does the code editor do while a user writes the code in it? 
 

A. It verifies the spelling of the variables used. B. It verifies the grammatical errors in the print 

statements. 

C. It verifies the syntax of the conditional 

statements. 

D. It verifies that the text entered in plain text. 

Q68. �- �+0K��$?ा �K! ��!�1 /े䜂 �K! �ल�$? AP $K �K! ��!�1 �0म⹍0�ल��$ /े䜂 @O ]0? �1$? AP? 
 

A. 0A �},O/?ल ��� �� =O91�-ल㉍@ �I }+Oलल�� �I �?�� �1,? 
AP। 

B. 0A =��ट }टOट/े䜂ट /े䜂 }0?�1+ @�-�/I ्䵔I9ट0ो䬂 �I �?�� �1,? AP। 

C. 0A �� डI>0ल }टOट/े䜂टὍ@ �O  ल@�टP]@ �I �?�� �1,? AP। D. 0A �?�� �1,? AP �� टO]}ट @?.O टO]}ट �O  z+ /े䜂 
�==�ट��0? �0? AP। 

 

Q69. Which among the below code scenarios will be identified by compilers in an IDE? 
 

A. Code to divide a variable by 0. B. Code to print the value of an undeclared 

variable. 

C. Code to open a file that does not exist. D. Code to call a linked program where main () is 

defined as Main(). 
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Q69. IDE /े䜂 �� +?�ल1ो䬂 ्䵛?1? 0I�O �?� �� �K! �O  +र1o/0ो䬂 /े䜂 @O ��@�ी +A�?0 �ी �?��I? 
 

A. =O91�-ल �K 0 @O ==.?}�, �10O =?ल? �Kड। B. 
 K=?, =O91�-ल �? /?0 =��ट �10O =?ल? �Kड। 

C. �K /L�.ू 0AI� AP �@ फ?�ल �K �Kल0O �O  लल� �Kड। D. लल�� �K्䵇?/ �K �Iल �10O �O  लल� �Kड �A?? main() �K 
Main() �O  z+ /े䜂 +91.?=?, ��0? �0? AP। 

 

Q70. A set of helper functions, pre built compiled codes which a user's application calls for a 
particular functionality is called ______________. 

 

A. Framework B. IDE 

C. Code Library D. API 

Q70. AOल㉍+1 ?� ]>0, +K=ा �0�/ा$ @���ल$ �K!, �K ��@I �+0K��$?ा �ी ��oल�O >0 ��@I �=>O? �?0?ाm/�$? �O  �ल� �Qल �1$I AP, �@O 
______________ �A? �?$? AP। 

 

A. �O /=�?  B. IDE 

C. �Kड ल?�}O1I D. API 

 

Q71. Which of the following is a part of the code library? 
 

A. Object files B. Header files 

C. Source files D. Test files 

Q71. �0म⹍0�ल��$ /े䜂 @O �L0 @? �K! ल?�्䵜O1I �? �� .?� AP? 
 

A. �m�O]ट ??�ल㉍@ B. AOड1 ??�ल㉍@ 

C. @K@? ??�ल㉍@ D. टO}ट ??�ल㉍@ 

 

Q72. Which of the following suggests the best way to use external code libraries? 
 

A. Add a thankyou note to the code library 

contributor in the user code. 

B. Obtain a license to use the code library. 

C. Mention the contributor details in the user 

code. 

D. Obtain a certification to be eligible to use the 

code library. 
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Q72. �0म⹍0�ल��$ /े䜂 @O �L0 @? �� �]@�0ाल �K! ल?�्䵜O1I �O  @-@O -OA$1 $1I�O  @O �+0K� �10O �O  -?1O /े䜂 -$?$? AP? 
 

A. 0�ू1 �Kड /े䜂 �Kड ल?0}O1I �I}oरm0टू1 �O  लल� -ै䠂]0ू 0Kट 
�Kडे䜂। 

B. �Kड ल?�}O1I �? �+0K� �10O �O  लल� ल?�@े䜂@ �?o, �1े䜂। 

C. 0�ू1 �Kड /े䜂 �I}oरm0टू1 �O  ===1+ �? �ल㉍लO� �1े䜂। D. �Kड ल?�}O1I �? �+0K� �10O �O  लल� 0K_0,? �? �/?+ +्䵔 
�?o, �1े䜂। 

 

Q73. Which among the following is a code library? 
 

A. Node JS B. React JS 

C. Angular JS D. Spring JS 

Q73. �0म⹍0�ल��$ /े䜂 @O �L0 @? �K! ल?�्䵜O1I AP? 
 

A. Node JS B. React JS 

C. Angular JS D. Spring JS 

 

Q74. Which of the following addresses the variable in C Programming? 
 

A. Pointers B. Union 

C. Strings D. Arrays 

Q74. C �K्䵇?�/�� /े䜂 �0म⹍0�ल��$ /े䜂 @O �L0 @? =Oर1�-ल㉍@ �K �्䵑O@ �1$? AP? 
 

A. +I��ट@? B. 0}ू000 

C. }}र�_@ D. �1O 
 

Q75. Which type of pointer is used to assign the value of zero defined in several standard 
libraries in C programming? 

 

A. NULL pointers B. Generic Pointers 

C. Dangling Pointers D. Huge Pointers 

Q75. C �K्䵇?�/�� /े䜂 �=�.m0 }�Po!!ा ल?�्䵜O1I /े䜂 >Km0 �O  /Kल㉍0 �K �0�?ा्䵖 �10O �O  �ल� ��@ ��?1 �O  +Q���1 �? �+0K� ��0? �?$? AP? 
 

A. 0ल +I��ट@? B. �O0O91� +I��ट@? 

C. डै䠂�लल�� +I��ट@? D. A0�ू +I��ट@? 
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Q76. In which of the following arrays, one can give single subscript when defining the array in 
C programming ? 

 

A. No Dimensional Array B. Two Dimensional Array 

C. Multi Dimensional Array D. One Dimensional Array 

Q76. C �K्䵇?�/�� /े䜂 �1O �K +र1.?�?$ �1$O @/0, �0�म⹍ल��$ /े䜂 @O ��@ �1O /े䜂, �K� ��ल @-�}्䵅o� ?O @�$? AP? 
 

A. }-0? �0?/ =?ल? �1O B. .K �0?/I �1O 

C. -AI �0?/I �1O D. �� �0?/I �1O 
 

Q77. Which phase generates an intermediate representation of the source program and symbol 
table in C programming? 

 

A. Import Phase B. Synthesis Phase 

C. Analysis Phase D. Application Phase 

Q77. C �K्䵇?�/�� /े䜂 �L0 @I 
=}%? @K@ा �K्䵇?/ �1 �@�-ल �O-ल �? �� /o0=$I �0z+# �m+m0 �1$? AP? 
 

A. �म⹍+Kट? ?O � B. ल@�-Oल@@ ?O � 

C. �0?ललल@@ ?O � D. �oलI�O >0 ?O � 

 

Q78. In C programming, which one of the following stores the activation record when the 
procedure is executed ? 

 

A. Array B. String 

C. Stack D. pointer 

Q78. C �K्䵇?�/�� /े䜂 ��्䵅0? �O  �0�+?�?$ AK0O +1 �0म⹍0�ल��$ /े䜂 @O �L0 @? }�K1O� ��]�=O>0 र1�?!ड ा@ �K }�K1 �1$? AP? 
 

A. �1O B. }}र�� 

C. }टP� D. +I��ट1 
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Q79. The sequence of characters alphanumeric in a token is called _______ . 
 

A. Precedence B. Finite Automata 

C. Lexemes D. Lexical analyser 

Q79. �� �K�0 /े䜂 
�1(
ल㉍फ?m0K/Oर1�) �O  ्䵅/ �K _______ �A? �?$? AP। 
 

A. �O@Oडे䜂@O B. ??�0?�ट �टK/Oट? 

C. लI]@/O@ D. लO}]@�ल 
0ॅल?�@1 
 

Q80. What is meant by Lexical error in compiler? 
 

A. Missing semicolon or unbalanced parenthesis B. Misspellings of identifiers, keywords or 

characters 

C. Undeclared variable D. Code not reachable, infinite loop 

Q80. �म⹍+?�ल1 /े䜂 लO�]@�ल �11 @O ]0? /$ल- AP? 
 

A. 
0I+}}-, 
/?==1?/ 0? 
@�,Iलल, +P1े䜂-Oल@@ B. ��डे䜂9ट??01, �I=्䵑?@ 
-=? 
ि1ो䬂 �I �ल, }+Oलल�� 

C. 
 K=?, �1 D. 
0I+लm/ �Kड, 
0�, ल+ू 
 

Q81. Which type of allocation supports dynamic memory allocation, where the memory is 
allocated in any random order and fragmentation of memory occurs? 

 

A. Stack Allocation B. Static Allocation 

C. Heap Allocation D. Data Allocation 

Q81. ��@ ��?1 �? �=��0 !?00?�/� /O/K1I �=��0 �? @/%ा0 �1$? AP, �A?� /O/K1I ��@I .I 0?o�चᩍ�� ्䵅/ /े䜂 �=���$ �ी �?$I AP �1 
/O/K1I �? �=��!0 AK$? AP? 

 

A. }टP� �लK�O >0 B. }टP9ट� �लK�O >0 

C. AI+ �लK�O >0 D. ड?ट? �लK�O >0 

 

Q82. Which attributes get values from the attribute values of their child nodes ? 
 

A. L-attribute B. Inherited Attribute 

C. Non-synthesized Attribute D. Synthesized Attribute 
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Q82. �L0 @O ��रm0K� 
+0? /?0 
+0O �?�ल㉍! 0K!ड@ �O  ��रm0K� /?0 @O �?्䵎 �1$O AP? 
 

A. L- �9रm0टू B. �0AO91टOड �9रm0टू 

C. 0I0-ल@�-O@?�जᱍड �9रm0टूὍ@ D. ल@�-O@?�जᱍड �9रm0टूὍ@ 

 

Q83. Which technique works locally on the source code, and transform the source code into an 
optimized code? 

 

A. Unreachable code B. Peephole optimization 

C. Reachable code D. Code optimization 

Q83. �L0 @I $�0I� @K@ा �K! +1 }%?0I0 $L1 +1 �?/ �1$I AP, �1 @K@ा �K! �K �� �o�I/?�ज़孍! �K! /े䜂 -?ल ?O$I AP? 
 

A. 
01I�-ल �Kड B. +I+AKल �}oट/?��O>0 

C. 1I�-ल �Kड D. �Kड �}oट/?��O>0 

 

Q84. While typing a program, a programmer skips putting a semicolon at the end of a java 
statement. What type of error will be shown? 

 

A. Semantic error B. Syntax error 

C. Logical error D. Run time error 

Q84. �� �K्䵇?/ �?�+ �1$O @/0 �� �K्䵇?/1 �� �?=? }�O�/े䜂� �O  
�$ /े䜂 �� @O/I�Kल0 ल�?$? AP। ��@ ��?1 �ी }J�� �?�?� ?O�I? 
 

A. ल@/े䜂9ट� ्䵔I9ट B. ल@�टO]@ ्䵔I9ट 

C. लI}��ल ्䵔I9ट D. 10ट?�/ ्䵔I9ट 
 

Q85. _________ error is due to an improper use of program statements. 
 

A. Semantic B. Compile 

C. Run-Time D. Logical 

Q85. _________ }J��0?� �K्䵇?/ }�O�/े䜂� �O  
0J��$ �+0K� �O  �?1# AK$I AK। 
 

A. ल@/े䜂9ट� B. �� +?�ल 

C. 10-ट?�/ D. लI}��ल 
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Q86. Which among the following class in Java is the superclass of all types of errors and 
exceptions? 

 

A. java.lang.Class B. java.lang.Object 

C. java.lang.Throwable D. java.lang.Runtime 

Q86. Java /े䜂 �0म⹍0�ल��$ ]ल?@ /े䜂 @O �L0 @? ]ल?@ @.I ��?1 �ी }J��0ो䬂 �1 
+=??ो䬂 �? @J+1]ल?@ AP? 
 

A. java.lang.Class B. java.lang.Object 

C. java.lang.Throwable D. java.lang.Runtime 

 

Q87. If a programmer wishes to find the mod of a number , and he wrote num/7 instead of 
num%7 (which is formula for mod), then what type of errors will be produced? 

 

A. Compile time error B. Logical error 

C. Syntax error D. Semantic error 

Q87. 0�? �K� �K्䵇?/1 ��@I @�_0? �? /Q! "K�"0? �?A$? AP, �1 �@0O num %7 (�K /Q! �O  �ल� @K} AP) �O  -�?0 num/7 �ल�? AP, 
$K ��@ ��?1 �ी }J��0?? +P?? Aो䬂�I? 

 

A. �� +?�ल ट?�/ �11 B. लI}��ल �11 

C. ल@�टO]@ �11 D. ल@/े䜂9ट� �11 
 

Q88. Which among the following is a network security program to keep a check on incoming 
and outgoing information? 

 

A. Firewall B. Antivirus 

C. malware D. spyware 

Q88. �0म⹍0�ल��$ /े䜂 @O �L0 @? 0O�=�ा  @J1�? �K्䵇?/ �0��/�� �1 ����K��� @K�0?� � +1 0�1 1�0O �O  �ल� �+0K� AK$? AP? 
 

A. फ?01=Iल B. ��टI=?01@ 

C. /Pल=O01 D. }+?�=O01 
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Q89. Which among the following type of network attack copies itself, travels to other networks 
and eats up a lot of bandwidth without attaching itself to any executable program? 

 

A. Computer worm B. Virus 

C. Trojan horse D. Spoofing 

Q89. �0म⹍0�ल��$ /े䜂 @O ��@ ��?1 �? 0O�=�ा  
�P� �J? �K �Q+I �1$? AK, 
m0 0O�=�ा  /े䜂 रO=ल �1$? AP, $%? ��@I .I �]@I]0K�O-ल 

�K्䵇?/ /े䜂 �J? �K @�ल_0 ��� �-0? -AI$ @?)I -K!�=!ड% �K �? �?$? AK? 
 

A. �� o0टू1 =K/? B. =?�1@ 

C. रK�0 AI@? D. }+�ू?� � 

 

Q90. Which attack in DDoS is known as state-exhaustion attack? 
 

A. Protocol attacks B. Application Layer attacks 

C. Volumetric attacks D. Amplification attacks 

Q90. DDoS /े䜂 ��@ 
�P� �K }�O�-
�[K}�0 
�P� �O  0?/ @O �?0? �?$? AP? 
 

A. �KटK�Iल 
टP� B. �oलI�O >0 लO01 
टP� 

C. =Iल㉍0ू/I9र� 
टP� D. �}म⹍oल�फ�O >0 
टP� 

 

www.mseducationtv.com


